Subtracting with No Regrouping (A)

Calculate each difference.

715 693 78 932 565
— 114 — 323 — 626 — 701 — 225
634 693 745 916 689
— 372 — 482 — 545 — 301 — 062
596 676 869 938 825
— 350 — 116 — 332 — 216 — 615
433 756 633 837 257
— 310 — 110 — 010 — 123 — 132
998 883 749 945 575
— 202 — 412 — 028 — 342 — 444
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Subtracting with No Regrouping (A) Answers

Calculate each difference.

715 693 778 982 565
— 114 — 323 — 626 — 701 — 225
601 370 152 281 340
684 693 745 916 689
=32 =482 @ =55 =300 @ —=25062
312 211 200 615 127
596 676 369 938 825
=30 =116 =332 =216 =615
246 560 H37 722 210
433 7H6 683 37 257
-3 =110 =510 =123 =132
123 646 173 714 125
998 883 749 945 H7H
-202 =412 =52 =342  —44
796 471 221 603 131
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